
300 EXC SIX DAYS CKD 2025 <2025><BR><F7440Y2>
FRONT FORK, TRIPLE CLAMP

72953

Pos Part Number Description Additional Text Quantity

1 A490C163X402000 fork KTM 250/300 EXC/XC-W/EXC- 1.00

2 A46001094000EBI fork protector kit Six Days 20 with decal 1.00

3 77701085100EB Clamp for brake line 1.00

4 59001092050 SPECIAL SCREW M6X12,5 WS=8 6.00

5 0017060206 SCREW F. PLASTIC K60X20AL SW6 2.00

6 A4600113202204 Triple clamp bottom, preass., 1.00

7 0025080506 HH collar screw M8x50 TX40 4.00

8 77701084000 O-RING SUPPORT W. SEALING LIP 1.00



9 54201081100 TAPERED ROLLER BEARING CPL. 06 2.00

10 A46001086000 Steering head seal 1.00

11 A49002065000 Steering lock 1.00

12 0035100509S AH collar screw M10x50 ISA45 ONLY ADVENTURE R 2.00

13 A46001139034 Handlebar mount, bottom part 2.00

14 83001040000 RUBBER BUSH 2.00

15 A4600113402204 Upper Triple Clamp X=22MM 1.00

16 0025080406 HH COLLAR SCREW M8X40 TX40 4.00

17 0015080256S HH COLLAR SCREW M8X25 WS=10 1.00

18 A46001035001 Rubber bushing 2.00

19 A46009082000 Collar screw M20x1.5 SW17 Al 1.00

20 A48001139036 Handlebar mount D28 mm-H36 mm 1.00

21 79001038000 HANDLEBAR CLAMP 28MM 1.00

22 0025080256 HH collar screw M8x25 4.00

98 A48001039010 handlebar mount kit D28mm-H36m 0.00

99 A46001081044 Repair Kit steering head beari 0.00


